=R TUBKRS

SIMODI VALVE

BV-131T= R\ &G HHIRAEK RS

AT =
SPECIFICATIONS =
*\FEES] 0 1/4" ~4" 1000PSI WOG
Working Pressure: 1/4" ~4" 1000PSI WOG
*EFREZEE : -20~180°C
Temperature Range: -20 ~ 180°C
*[)5ARER Blow-Out-Proof Stem Design
*BHEFEESEE Antistatic Device
*iE& 515 Investment Casting
&ALz Solution Treatment
*EEE ¢ IEAY
End Types: Female Threaded
HMEES ()
Locking Device (option)

*aiiE  Full port

RUE - BV-131T

) '\
8 5 10 ‘ 11 @ @
AN
7 | A
o 7
6 1
! I
! L1 T
!
@ ’ z
7 L5 >
N | I L — s | I
! 1/4"~2"-4 BOLT & NUTS
e = 2-1/2"~4"-6 BOLT & NUTS
MATERIALS LIST
13 2 1 4 15) (14
L4105 MATERIAL ,
ITEM|  PART NAME 16 wes1QTY
1 |BODY CF8M | WCB 1
DIMENSIONS unitmm 2| END CAPS CF8M | WCB 2
<oE X - o W 3 |SEATS PTFE | PTFE | 2
- 4 |BALL SUS 316 | SUS 304 | 1
1/4" 10.0 55.0 50.0 100.0 5 [STEM SUS 316 [ sus 302 | 1
3/8 12,5 55.0 50.0 100.0 = GASKET e e R
1/2" 15.0 65.0 53.0 100.0 —TSEAL e T PTEE | 1
3/4" 20.0 75.0 58.0 103.0 8 |PACKING GLAND | SUS 304 | SUS 304 | 1
1 25.0 85.0 70.0 158.0 9 |HANDLE SUS 304 | SUS 304 | 1
1-1/4 320 | 1000 | 76.0 158.0 10 |SPRING WASHER | SUS 304 | SUS 304 | 1
1-1/2" | 38.0 110.0 88.0 183.0 11 [LEVER NUT SUS 304 | SUS 304 | 1
2" 50.0 130.0 95.0 183.0 12 |PLASTIC COVER PVC PVC 1
2-1/2" 65.0 160.0 135.0 243.0 13 |BOLTS SUS 304 [ SUS 304 | 4
3" 80.0 185.0 | 145.0 | 243.0 14 |BOLT NUTS SUS 304 | SUS 304 | 4
4" 100.0 | 220.0 | 165.0 | 328.0 15 | SPRING WASHERS | SUS 304 | SUS 304 | 4

Website:Http://www.simodi.com.tw

Email:sales@simodi.com.tw

1
=
\J

1




=ssti|  SIMODI VALVE

BV-131B= R/ £ A= IETkRE

BRI ==
SPECIFICATIONS
*\FEES] 0 1/4" ~4" 1000PSI WOG
Working Pressure: 1/4" ~4" 1000PSI WOG
*EFREZEE : -20~180°C
Temperature Range: -20 ~ 180°C
*[5)5 e Blow-Out-Proof Stem Design
*BHEFELEE Antistatic Device
*{&577451% Investment Casting
*[E;A{LEZE Solution Treatment
¥EEI  XR
End Types: Female Butt Weld
*RMEZEE (FE)
Locking Device (option)
*&&E  Full port

AUEE - BV-131B

w
5 10
8
7
6
© = -
[ =
[o'n ) IR N 1 .= I 1 I
RSN
| - 1/4"~2"-4 BOLT & NUTS
— = 2-1/2"~4"-6 BOLT & NUTS
)
é > é) (2 MATERIALS LIST
L+0.5 MATERIAL ,
ITEM|  PART NAME 216 T weg 19TY
1 |BODY CF8M | WCB | 1
DIMENSIONS 2 |END CAPS CF8M | WCB | 2
SIZE A B L H W 3 |SEATS PTFE | PTFE | 2
1/4" | 100 | 13.0 | 55.0 | 50.0 | 100.0 4 [BALL SUS 316[SUS 304| 1
3/8" | 125 | 13.0 | 55.0 | 50.0 | 100.0 5 |STEM SUS 316|SUS 304| 1
1/2" | 150 | 17.0 | 650 | 53.0 | 100.0 6 |GASKET PTFE | PTFE | 1
3/4" | 200 | 22.0 | 750 | 58.0 |103.0 7_|SEAL PTFE | PTFE | f
T 5c0 T80 1850 500 11580 8 |PACKING GLAND |SUS 304 |SUS 304| 1
14 320 1370 [1000 | 760 1580 9 |HANDLE SUS 304|SUS 304| 1
15380 450 100 880 1830 10 |SPRING WASHER |SUS 304|SUS 304| 1
/ : : : : : 11 |LEVER NUT SUS 304|SUS 304| 1
2 50.0 | 540 |130.0 | 950 | 183.0 12 [PLASTIC COVER sve 1 pve 17
2-1/2" | 65.0 | 72.0 |160.0 | 1350 |243.0 13 1BOLTS SUS 304150 304 2
3" [ 800 | 840 |185.0 145.0 | 243.0 14 [BOLT NUTS SUS 304[SUS 304| 4
4" | 100.0 |109.0 |220.0 | 165.0 | 328.0 15 |SPRING WASHERS |SUS 304|SUS 304| 4

Website:Http://www.simodi.com.tw Email:sales@simodi.com.tw



SIMODI VALVE = HIH

BV-131S= /2 AFHHtF IR TR

BRI -
SPECIFICATIONS
*\FEES] 0 1/4" ~4" 1000PSI WOG
Working Pressure: 1/4" ~4" 1000PSI WOG
*EFREZEE : -20~180°C
Temperature Range: -20 ~ 180°C
*[5)5 e Blow-Out-Proof Stem Design
*BHEFELEE Antistatic Device
{52451 Investment Casting
*[E;A{LEZE Solution Treatment
MEEE | RIER
End Types: Socket Weld
*RMEZEE (FE)
Locking Device (option)
*&&E  Full port

RUgE - BV-131S

1/4"~2"-4 BOLT & NUTS

. = 2-1/2"~4"-6 BOLT & NUTS
13 é} é} @ MATERIALS LIST
L£0.5 MATERIAL ,
ITEM| PART NAME 316 T wes |QTY

1 |BODY CF8M | wCB | 1

DIMENSIONS 2 |END CAPS CF8M | wecB | 2

unit: mm 3 |SEATS PTFE | PTFE 2

SIZE A B L H W 4 |BALL SUS 316|SUS 304 1
1/4" | 100 | 140 | 55.0 | 50.0 | 100.0 5 |STEM SUS 316 |SUS 304 1
3/8" | 125 | 180 | 55.0 | 50.0 | 100.0 6 |GASKET PTFE | PTFE | 1
1/2" | 150 | 22.0 | 65.0 | 53.0 | 100.0 7 |SEAL PTFE | PTFE | 1
3/4" | 200 | 275 | 75.0 | 58.0 | 103.0 8 |PACKING GLAND |SUS 304|SUS 304| 1
1" 250 | 345 | 850 | 70.0 | 158.0 9 |HANDLE SUS 304]SUS 304] 1
1-1/4" | 32.0 | 43.0 |100.0 | 76.0 | 158.0 10 [SPRING WASHER |SUS 304| SUS 304| 1
1-1/2" | 38.0 | 49.0 | 1100 | 880 | 183.0 11 [LEVER NUT SUS 304/ SUS 304| 1
2" 50.0 | 61.5 |130.0 | 950 |183.0 12 [PLASTICCOVER | PVC | PVC | 1
2-1/2" | 65.0 | 77.0 |160.0 |135.0 | 243.0 13 |BOLTS SUS 304|SUS 304| 4
3" 80.0 | 90.0 |185.0 |145.0 | 243.0 14 [BOLT NUTS SUS 304/ SUS 304| 4
4" [ 100.0 |115.5 |220.0 | 165.0 | 328.0 15 |[SPRING WASHERS| SUS 304| SUS 304] 4

1
=
o

1

Website:Http://www.simodi.com.tw Email:sales@simodi.com.tw




